2-52

CABLE BRACKET (OVER CABLE RACK)

ITEM 1

1

CABLE RACK(REF)

f=—6.38" —=|

-

3

A

ITEM2OR 3

ITEM4 &5
1-1/2" 2"
A 6.5" 6"
3 ITEM DESCRIPTION CR1-882K CR2-882K
MATERIAL: 35 x 1 HRPO
1 OVERHEAD BRACKET 1 1
FINISH: MTP GRAY POWDER 2 U-BOLT 1.5" CABLE RACK 1
3 U-BOLT 2" CABLE RACK 1
"D" IS THE DEPTH OF CABLE
RACK SIDE BAR 4 1/4 STEEL FLAT WASHER 2 2
5 1/4-20 STEEL HEX NUT 2 2
ITEM1,2,0R 3
H
CABLE RACK(REF)
ITEM4 OR 5
*
ITEM6 &7
D 1-1/2" 2" 1-1/2" 2"
H 8.75" 8.25" 6.56" 6.06"
3 ITEM DESCRIPTION CR1-884K2 | CR2-884K2 | CR1-886K2 | CR2-886K2
MATERIAL: 35 x 1 HRPO
1 HORNS 2 2
FINISH: MTP GRAY POWDER 2 U-BOLT 1.5" CABLE RACK 2 2
3 -BOLT 2" C c
"D" IS THE DEPTH OF CABLE U-BOLT 27 CABLE RACK 2 2
RACK SIDE BAR 4 1/4 STEEL FLAT WASHER 4 4 4 4
5 1/4-20 STEEL HEX NUT 4 4 4 4
(03/30/23)

Moreng Telecom Products
973-237-2001
www.morengtel.com




